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Compréhension de texte

Lisez le texte suivant.

Laurent Biron in Freiburg

« Es ist Zeit. » Das ist mein Lieblingssatz
auf Deutsch. Mir fehlen manchmal noch
die richtigen Worter. Deshalb mag ich
diesen Satz so sehr. Er passt fast immer
und klingt gut. Ich sage ihn oft zu den
Kindern. Zum Beispiel, wenn sie mit dem
Computerspielen aufhéren sollen oder
wenn das Essen fertig ist.

Ich lebe als Au-pair in Freiburg. Am Anfang
war das schwer, obwohl Deutschland kein
fremdes Land flir mich ist. Ich kenne die
Kultur und die Mentalitat. Aber alles war
neu fiir mich: ein neues Zuhause, eine
neue Familie, neue Aufgaben. Ich bin an
einem Samstag in meiner neuen
deutschen Familie angekommen. Schon
am nachsten Montag hat mein Sprachkurs
begonnen. Jeden Vormittag lerne ich an
der Universitat im Stadtzentrum von
Freiburg die deutsche Sprache. Mit mir im
Kurs sind junge Leute aus der ganzen
Welt. Sie kommen aus China, Russland,
den USA, Peru, Brasilien, dem Iran und
Litauen. Wir konnen uns nur auf Deutsch
unterhalten. Das ist die einzige Sprache,
die wir alle kbnnen.

Ich méchte in Deutschland eine
Ausbildung zum Physiotherapeuten
machen. Dafiir muss ich sehr gut Deutsch
sprechen kénnen. In meinem Land
Frankreich gibt es eine Schule fir Physio-
therapeuten. Dorthin gehen fast nur

(15 points)

Franzosen. In Frankreich muss man
studieren, um diesen Beruf zu lernen. In
Deutschland ist die Ausbildung viel
praktischer, nicht nur Theorie. Das gefallt
mir und motiviert mich, Deutsch zu
lernen.

Am Nachmittag passe ich auf die beiden
Jungen Malik und Sami auf. Das ist der
grosste Unterschied zwischen Frankreich
und Deutschland im Alltag: In Frankreich
sind die Kinder auch nachmittags in der
Schule. Hier meistens nicht. Es gibt auch
kein Mittagessen in der Schule. Die Kinder
miussen flir den nachsten Tag
Hausaufgaben machen. Und die Familien
mussen alles allein organisieren. Ich fahre
Sami und Malik zum Beispiel zum Fussball
und zum Tennis. Ich kaufe auch ein, koche
mittags und manchmal abends, und ich
arbeite im Garten. Eigentlich soll ich auch
Wadsche waschen und Fenster putzen. Das
winscht sich meine Gastmutter Claudia.

Es ist sehr lustig, wenn wir zu viert
unterwegs sind. Die Leute wissen nicht,
wie wir zusammengehoren. Claudia
erklart dann: «Das ist Laurent, unser Au-
pair aus Frankreich. Er lernt Deutsch,
passt auf die Kinder auf und macht den
Haushalt.» Viele wundern sich dann. Aber
fiir mich sind meine Aufgaben hier ganz
normal — ausser Fensterputzen. Claudia
sagt: «Es ist Zeit, dass du das jetzt lernst.»
Eigentlich ist das mein Satz.

Leicht verdndert aus «Deutsch Perfekt»



1. Lisez attentivement les phrases 1 - 9 et le texte. Si la phrase est vraie, cochez V. Si la
phrase est fausse, cochez F.

\%
. Laurent wiederholt oft, dass er keine Zeit hat.
. Laurent hat eine Frau und zwei Kinder, seine Frau heisst Claudia.
. Laurent wusste schon viel Gber Deutschland, bevor er in dieses Land gekommen ist. X
. Laurent musste zwei Monate warten, bis sein Sprachkurs begonnen hat.
. Furr seinen Sprachkurs muss Laurent in eine andere Stadt fahren.
. Im Sprachkurs spricht Laurent auf Deutsch mit Menschen aus vielen Landern. X
. Laurent muss gut Deutsch sprechen, weil er einen Beruf in Deutschland erlernen will. | *
. Malik und Sami sind Laurents Freunde, er spielt mit ihnen Fussball und Tennis.
. Laurent mag nicht alle Aufgaben im Haushalt, aber er muss sie lernen. X

(9 points)

2. Sur la page suivante, lisez les titres (1 — 12) et les textes (A — F). Attribuez le titre qui
correspond a chaque texte. Notez le numéro du titre. Il n’y a qu’une réponse juste par
texte.

Texte A + titre n° 8
Texte B + titre n® 10
Texte C + titre n° 6
Texte D + titren® 1
Texte E + titren® 11

Texte F + titre n° 3

(6 points)




1. Digitale Technologie als Lebenshilfe im Alter

2. Die Europaer leben zu lang

3. Wie halte ich mich fit?

4. Relaxen im Stadtzentrum von Biel

5. Madchen sehen selten fern

6. Blcher sind wichtig fir die meisten Madchen

7. Zuviel Tee — Risiko fiir die Gesundheit

8. Wir informieren Sie zum Thema ,,Griiner Tee”

9. Fernsehen am Computer? Nein, danke!

10. Studie Uber Medien bei Kindern: Fernsehen auf Platz 1

11. Besitzer von Tieren kosten Krankenkassen weniger Geld

12. Viele alte Mensche haben Angst vor Hunden

A Eine Schweizer Studie zum Thema ,Kinder
In Asien ist griiner Tee ein sehr beliebtes und Medien” hat gezeigt, dass bei Kindern
Getrank. Auch europadische Teetrinker Fernsehen ganz oben auf der Hit-Liste steht:
wissen, dass griiner Tee sehr gut Acht von zehn Kindern im Alter von 6 bis 10
schmeckt und viele positive Jahren sehen fast jeden Tag fern und wiirden
Eigenschaften hat. Doch was kann gern noch mehr Zeit damit verbringen. Auch
griner Tee alles? Welche Sorten gibt es Handy und Internet sind weit verbreitet: 70 %
und wie werden sie richtig zubereitet? \der 10-Jahrigen haben ein eigenes Handy./
Das und mehr lernen Sie in unserem

Qeminar,,Gesundheit aus der Tasse”. / / \
D

/C \ Bis 2020 werden 25 % der EU-Bevdlkerung

Uber 65 Jahre alt sein. Damit die Europaer
Im Gebrauch von elektronischen Medien auch im Alter aktiv bleiben und unabhangig
gibt es keine grossen Unterschiede leben kdnnen, investiert die Europaische
zwischen Madchen und Jungen. Aber was Kommission in digitale Technologien. Das
Madchen besonders interessiert, ist Leben adlterer Menschen soll zu Hause, am
Lektire. 65 % der Madchen haben Arbeitsplatz und in der Gesellschaft
angegeben, dass sie in ihrer Freizeit Biicher kleichter werden. /
lesen. Sehr beliebt sind Liebesgeschichten

Qnd Geschichten Gber Tiere. / / \

/ | F

E

Wer Hund oder Katze hat, lebt gesiinder.
In einer Studie mit 1000 Senioren fand
man heraus: Tierbesitzer bleiben im
Krankheitsfall weniger lang in der Klinik
und sparen damit Krankenhauskosten.
Haustiere mildern die Einsamkeit und \

ereichtern die Rickkehr ins AIItagsIebenJ

Bewegung im Alltag ist sehr wichtig!
Besuchen Sie unseren Fitness-Club im
Stadtzentrum von Biel. Erfahrene Trainer
helfen lhnen und geben Tipps zu Ubungen
im Club und zu Hause. Sie bekommen
ausserdem Informationen Uber die
Erndhrung, die Ihre Muskeln starkt.

J




Grammaire et vocabulaire (30 points)

1. Complétez les phrases avec les mots donnés. Vous pouvez utiliser chaque mot qu’une

seule fois.

Rivalen — Nachbarn — Geschwister — Lehrerinnen — Freunde — Schulkameraden — Bekannte

1. Ich kenne Maria ein wenig, wir sind Bekannte.

Liza besucht die gleiche Klasse wie ich, wir sind Schulkameraden.

Peter wohnt im Haus nebenan, wir sind Nachbarn.

Wir verstehen uns sehr gut. Sie sind meine Freunde.

Die beiden Frauen unterrichten mich. Sie sind meine Lehrerinnen.

2
3
4. Wie Ben mochte auch ich Gruppenchef werden, wir sind Rivalen.
5
6
7

Max ist mein Bruder, Ina meine Schwester. Wir sind Geschwister.

2. Cochez les phrases correctes.

1. Max ist gliicklich, weil
o seine Freundin sind nett.
O seine Arbeit interessant ist.

2. Ich freue mich,
o dass du kommst.

o wann kommst du.

3. Vor dem Essen

o0 du musst waschen deine Hande.
O musst du deine Hande waschen.

4. Vor vielen Jahren
O hatte ich eine Katze.
O ich eine Katze habe.

(7 points)

5. Evahat
O eine schon Schal.
O einen schénen Schal.

6. Diese Bluse
o steht dir nicht.
O setzt dich gut.

7. Die Schiiler haben
O die Aufgabe nicht verstanden.
O nicht verstehen die Aufgabe.

8. Weisst du,
O spater er hat gesagt?

0 wann der Kurs beginnt?

(8 points)




3. Soulignez le mot qui convient.

Jeden [ Allen Morgen mache ich etwas Neues.
Wenige / Diese Woche habe ich viel unternommen.
Ich Gbernehme keinen / ein paar Aufgaben im Haushalt.

Meiner [ Viele Mutter und mir gefallt das gemeinsame Arbeiten.

v Ao nNoe

An der Schule habe ich noch keine / niemand Freunde.

(5 points)
4. Formulez les phrases avec les mots donnés, mettez le verbe en forme correcte en
respenctant le temps grammatical indiqué.

Exemple : spielen — Denis — sehr oft — Fussball (prétérit)
> Denis spielte sehr oft Fussball.

1. gehen — auf den Markt — sonntags —er (passé composé)

Erist sonntags auf den Markt gegangen. / Sonntags ist er auf den Markt gegangen.
2. ich—am Abend — dirfen — fernsehen — nicht lange  (présent)

Ich darf am Abend nicht lange fernsehen. / Am Abend darf ich nicht lange fernsehen.
3. einladen — zum Geburtstag — seine Freunde — Max  (passé composé)

Max hat seine Freunde zum Geburtstag eingeladen.
4. immer — sie — einschlafen — vor dem Computer (présent)

Sie schlaft immer vor dem Computer ein. / Immer schlaft sie vor dem Computer ein.
5. in Paris — sein — meine Eltern — letztes Jahr  (prétérit)

Meine Eltern waren letztes Jahr in Paris. / Letztes Jahr waren meine Eltern in Paris.

(10 points)



Production écrite

Vous avez acheté quelque chose sur une plateforme en ligne.

Ecrivez une lettre en allemand a votre ami et racontez lui votre expérience.

Parlez des points suivants :

e Pourquoi avez-vous acheté ce(s) produit(s) ?
e Combien d’argent avez-vous dépensé, quel était le temps d’attente ?
e Que disent vos parents a propos des achats ?

Ecrivez au moins deux phrases pour chaque point (environ 80 mots).
N’oubliez pas les formalités : formule d’appel, introduction, fin de la lettre et salutations.

BEWERTUNG (NUR FUR EXPERTEN) :

(15 points)

Anrede +
Grussformel
1 Punkt

Einflihrung
+ Schluss
4 Punkte

3 Elemente
behandelt
6 Punkte

Grammatik+
Rechtschreibung
4 Punkte

Gesamt
15 Punkte
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Nom et prénom :

Localité :

Anglais (45 minutes) KEY Pts Note

Contenu :

A. Reading comprehension 1:

o Exercise 1 : / 10

o Exercise 2 : / 8

B. Reading comprehension 2 :

o Exercise 3 : /12
C. Writing
o Exercise 4 : / 20

Matériel autorisé :
o Aucun matériel autorisé



A.Reading comprehension 1 : read the text below and do
exercises 1 and 2

My name is Steven and | live in Western
Australia. For 12 of my 17 years I've lived on
my parents’ sheep station in the outback. |
have a younger brother, Malcolm. Even
though we sometimes fight, I'm glad | have
a brother because | don’t meet other young
people very often — only twice a year at the
local horse races. The nearest town,
Meekatharra, is four hours away by car. So
we only go in to do business once a month.

Malcolm is 12 and will soon go to boarding school in Perth, as | did. A boarding school is a
place where you spend your whole time: you study there during the day but you also have
a room, which you usually share with another student. As my home was far away, | stayed
at school at the weekends too. | enjoyed my time in Perth but really missed the countryside.
So after | took my exams last year | came back to work on the station with my parents. Our
farm would seem really huge to Europeans. It takes five days to drive around it. Because of
these long distances we fly to go looking for our sheep. As | said, our farm is really far from
everything. When somebody is ill, we have to call the “flying doctor”. He or she then comes
in by plane from one of the nearest towns.

It’s pretty hot in the outback, sometimes more than 40 degrees. We often sleep outside
because it’s cooler. We put our beds under the trees and hang mosquito nets over them.
There are lots of scorpions around, so we put the bed legs into bowls of water to stop the
scorpions crawling up into our beds. We have big sticks inside the house, ready to kill any
scorpion or snake that comes in.

Every few weeks, shooters come out from town and kill a lot of kangaroos. Their meat is
mostly used for pet food, although | know some people that eat it too. | find it a bit too oily
myself. Tourists are keen on these animals but | don’t like them very much because they
destroy our fences. We also have another “enemy”: the dingo, a kind of wild dog. On a
really bad night they can kill up to 20 sheep. Then we get the doggers to come and get rid
of the dingoes.

Before | went to boarding school | attended the “school of the air”. Every day | listened to
a one-hour lesson from a teacher on my computer. Then | learnt on my own for the rest of
the day. | had classmates, but | never met them in real life. We talked just like in a normal
classroom, even though we were hundreds of miles away from each other.

| love this life. City people would probably find it a bit lonely and boring. But | grew up here
and this is where I’'m going to stay.




Exercise 1: choose the correct answer to the ten questions below.
There is only ONE correct answer per question. (10 points)

1. Steven has lived at his parents’ farm
all his life

b. most of his life

c. only 2 years

d. twice ayear

Q

2. What is Steven’s relationship with his brother?
a. They are always fighting.
b. Steven is more often with his friends
c. They get on quite well.
d. They rarely see each other.

3. In Perth, Steven went to a school
a. for students from other countries.
b. where young people study but also sleep at night.
c. where students can only stay during the day.
d. which is open from Monday to Friday.

4. In the farm, when they need to see where the sheep are, they use

a. aplane
b. ahorse
c. acar

d. a motorbike

5. When somebody is ill on the farm,
a. adoctor who lives there can treat the patient.
b. he/she is taken to a hospital next to the farm.
c. no doctor can reach the farm.
d. adoctor comes by plane to help.

6. When they sleep outside, how do they keep the scorpions away from the bed?
a. They put water around the legs of the bed.
b. A mosquito net keeps them away.
c. They kill them with a stick.
d. There are no scorpions in that part of Australia.

7. What does Steven say about kangaroos?
a. He likes them because they are cute.
b. He kills them with his gun.
c. He likes to eat kangaroo meat.
d. He doesn’t like them because they do some damage.




8. What does he say about the dingoes?

a.

b
C.
d

They are a sort of dangerous dog.

. Sheep often kill dingoes.

They destroy the fences around the farm.
Fortunately, the doggers are there to protect them.

9. Whatis the “school of the air”?

a.
b
c.
d
10

W
a.
b.
c.
d.

A training centre where you learn how to become a pilot

. A school where you learn from home with the help of your computer

A normal school with normal classrooms

. A school where you go by plane.

hat does Steven say about his life on the farm?

He doesn’t like to be so lonely.

He finds it boring.

He enjoys it and will remain there.
He would prefer to live in a city.

ONE point per correct answer. No half-points allowed.

Exercise 2: Match sentences 1-8 with letters A-H. Write the correct
letter on the line. Do not use the letters more than once. The

meaning must respect the text. (8 points)

Beginning of the sentence Correct End of sentence

letter

(A-H)
1. It takes four hours ... E A. ... with another student.
2. He had a room which he shared ... A B. ...under the trees.
3. Steven learnt alone ... H C. ...soon go to schoolin Perth.
4. Kangaroo is eaten ... G D. ...itisvery hot.
5. His brother Malcolm will ... C E. ... to getto the nearest town.
6. They sleep outside when ... D F. ...heneverreally met them.
7. Although Steven had classmates ... F G. ... mostly by other animals.
8. In summer, they put their beds ... B H. ... most of the day.

ONE point per correct answer. No half-points allowed.



B. Reading comprehension 2 : read the 4 descriptions of
London hotels below and do exercise 3

The Ampersand, South Kensington

The Ampersand is a five-star hotel located in the city centre, in the beautiful area of South
Kensington. Guests only have to walk fifty metres to reach a station that is served by the three
most important underground lines, giving access to all the important sights of the city.

The area also has a lot of cultural activities to offer, with the well-known Natural History
Museum and the Victoria and Albert Museum. As well as the hotel’s well-equipped gym, the
guests have access to information about horse riding . They can also have a drink in the bar
next to the reception on the ground floor.

Hayden Rooms, Bayswater

The Hayden Rooms is a small hotel which offers ten air-conditioned rooms and free wifi.
Although the accommodation is simple, it is comfortable and the low prices make it very
interesting for the tourists who do not have a very high budget. On the ground floor a pub
serves traditional food, such as fish and chips and lamb. Located around one kilometre from
Portobello Road Market, it is a good option for travellers interested in buying antiques and
19t-century books. It is also close to Hyde Park, where relaxing in the grass is very popular.

Regent Canalside, Camden

Set in the outer part of London, about six kilometres from the town centre, the Regent
Canalside Hotel offers 48 comfortable rooms as well as 15 flats, ideal for families. It is situated
in a quiet area, next to a pretty canal. The London zoo is only about two kilometres away on
foot, in the northern part of Regent’s Park where some playgrounds are available for children.
For lunch, you can go to Camden market, where you can eat delicious Asian food outside.

Shangri-La Hotel, Southwark

Occupying levels 34 to 52, the Shangri-La Hotel at The Shard offers five-star luxury. All the
rooms are decorated in an Oriental way and have floor-to-ceiling windows looking out to Big
Ben and all the famous monuments of the city. The hotel has three dining and drinking
venues. GONG, set on the top floor, provides the setting for London’s highest champagne and
cocktail bar. This tall building is situated in an area that is very interesting for people who like
architecture.



https://it.wikipedia.org/wiki/The_Shard
https://creativecommons.org/licenses/by-sa/3.0/

Exercise 3 : Which hotel (A, B, C or D) does each question describe?
A = Ampersand Hotel, South Kensington
B = Hayden Rooms, Bayswater
C = Regent Canalside, Camden
D = Shangri-La Hotel, Southwark

Each hotel must be chosen more than once. (12 points)

Which hotel Letter (A, B, Cor D)
1. offers rooms at reasonable prices? B
2. is located in a high tower? D
3. is close to museums? A
4. is close to a market where old things are sold? B
5. has wonderful views of the city? D
6. offers easy underground travel around the city? A
7. is not located in the city centre? C
8. offers the possibility to do some sport? A
9. rents some apartments too? C
10. is situated above a pub? B
11. serves cocktails in a rooftop bar? D
12. is close to a place where you can see living animals? C

ONE point per correct answer. No half-points allowed.



C. Writing : exercise 4 (20 points)

You have received an email from a friend that you met at a language course and who now
lives in London. He / She is coming to visit your town next year and would like to see you.

Write an email back in which you include the following information:
- asuitable introduction (1)
- ask when he / she will arrive and how long he / she is staying (2)
- talk about two places that he / she should see (2)
- talk about two activities you could do together (2)
- asuitable ending (1)

Write around 80 words in an appropriate style. Do not copy from the task.

ASSESSMENT

Content (8 points)

- suitable introduction: 1 pt

- when he/she will arrive and how long he/she is staying:
2 pts

- two places that he/she should see: 2 pts

- two activities you could do together: 2 pts

- suitable ending: 1 pt

Structure (3 pts)

- paragraphs, logical development, links: 3 pts

Language (9 pts)

- vocabulary: range and accuracy: 4 pts
- grammar and syntax: 4 pts
- spelling: 1 pt

Half-points allowed for the writing part.
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Corrigé
Probleme 1 6 pts
a) 7x—4+x=11+ 3x 2

8x—-4=11+ 3x
8x—-3x=114+4

5x =15
x=3
b) x3L2 + % = 3x 2
2x+2)+x=6-3x
2x +4+x =18x
3x +4 =18x
4 = 15x
x=2
15
) 3x—2(x—2)=42x—-1)+ 15 2
3x—2x+4=8x—-—4+15
x+4=8x+11
-7 =7x
-1=x
Probleme 2 6 pts
a) 3x(—5x%)% = 3x - 25x10 = 75x11 1
b) 3(2—-5x —x?) —4(2x?+5x—1) =6 —15x — 3x? —8x2 —20x + 4 =
—11x% —35x + 10 2
c) (2x —5)(4x +3) = 8x% + 6x — 20x — 15 = 8x% — 14x — 15 1.5
d) (6x3—5)? =36x°—60x3+ 25 1.5
Probleme 3 7 pts
a) Lasomme est donnée par: 2
120 + 27 - 10 = CHF 390
b) Soit p le prix payé pour n trajets, on a: {DefnGi . S _ 3263(:_ 27n 2.5
Ainsi :
120 + 27n = 2650
27n = 2530
n = 93,7
L’AG est plus rentable a partir de 94 trajets aller-retour.
. . . . Rien : p = 54n
c) Soitp le prix payé pour n trajets,ona: {Demi :p =120 + 27n 2.5
Ainsi :
54n = 120 4+ 27n
27n =120
n=44

Le demi-tarif est plus rentable a partir de 5 trajets aller-retour.
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Probléeéme 4 7 pts
Factoriser les expressions suivantes.

a) 100x? —81y? = (10x — 9y)(10x + 9y) 1.5

b) x2 +2x —24=(x+6)(x —4) 1.5

c) 15x3y?%z — 20x2yz3 + 50x°y3z* = 5x2yz(3xy — 4z% + 10x3y?223) 2.5

d) 7ab — 14a? = 7a(b — 2a) 1.5
Probleme 5 7 pts

......... 5 m
Bm T~ | Y e
15m

a) 390 = 15 - x ou x désigne la largeur de la parcelle. Ainsi, x = 390 + 15 =
26 m. 1

b) La hauteur des entrepots est égale au c6té du carré, ainsi qu’au rayon du
demi-cercle. D’autre part, la largeur de la parcelle vaut 15, on a donc h +

2h =15etdonch=15+3=5m. 1
c) Le hangar en forme de parallélipipede a pour volume 5-5 - 26 = 650 m53.
Le demi-cylindre a pour volume 7 - 52 - 26 + 2 = 1021,02 m3, 2

d) Par Pythagore 52 + x? = 6,42 doncx = /6,42 — 52 = 4 m.
On en déduitque y = 12 — 4 = 8 m et donc grace a Pythagore :

a= V52+82=943m 3

9
4307

AA
v

v

12m
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Probleme 6 7 pts

Répondre aux questions suivantes (elles sont indépendantes les unes des autres).

a) Le pourcentage payé est de 85%.
Les 85% de CHF 40 sont donnés par % - 40 = CHF 34 2
b) L’augmentation correspond au 5% de CHF 4000, soit Fso -4000 =
CHF 200.
Le nouveau salaire est de 4000 + 200 = CHF 4200.
La baisse correspond au 4% de CHF 4200, soit % - 4200 = CHF 168.
Le nouveau salaire est de 4200 — 168 = CHF 4032. 4
c) On passe de 100% a 300%, 'augmentation est de donc de 200% 1
Probleme 7 7 pts

Répondre aux questions suivantes (elles sont indépendantes les unes des autres).

a)

b)

La longueur du coté double, ainsi le volume est muliplié par 23 = 8 et la
masse également. La masse est donc de 8 - 7500 = 60’000 kg = 60 t. 1
Le volume estde 10 - 5 - 2 = 100 m3.

Conversion : 100 m3 = 100'000 dm?® = 100’000 L.

100000 . 14,29 h = 14h17min. 3
7°000

8 L aux 100 km implique qu’un litre permet de parcourir % = 12.5 km.

Le temps est donné par :

La voiture disposant de 15 L, elle peut donc parcourir 15-12.5 =
187,5 km.
La voiture parcourant 50 km en 1 h, le temps pour parcourir 1 km est de

L -002h
50

Le temps pour parcourir 187.5 km est donc donné par 187.5-0.02 =
3.75 h =3h45min. 3
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